King Abdul Aziz University Spring 2014 Second Exam
Faculty of Sciences Calculus I- Math 110
Mathematics Department Allowed Time: 90 M
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X2 +|x|

Q1 x”—m 2x°_3x
(A) | does not exist | (B) | 1 © 10 G 1
3 0 3
Q.2 | If the graph of the function sinx ? is shifted a distance 4 units to the right, then the new
graph represented the graph of the function
(A) | sin(x?+8x +16) | (B) |sin(x*—8x +16) | (C) | sin(x*-16) (D) | sin(x?+16)
Q3 cos{ﬁj =
2
A | 7 ®) |~ © | (DN
3 2 6 4
l 5-x
Q4 XIHSI 5_1_)( -1
(A) | -10 | (B) | 25 [ (C) |10 (D) | 25
Q5 | The inverse of the function f ={(11,3),(—2,-1),(5,4),(9,7)} is
A f*={113),(-2-1,(45).,7.9} |® | f *={113),(-1-2),(4,5),(7,9)}
© [ f*={(-2-1,5,4),09,7),113)} |® | f *={(311,(-1-2),(4,5),(7,9)}
—_ 2 —_
Q6 |If WSf(X)SX—Z,then Iirrgf x)=
A |2 ® | 1 © |1 D) | -2
2 2
_ (x =1)*-1
Q7 |lim~>——~ ==
x —0 X
A |2 ® | 1 © |1 D) | -2
2 2
Q8 | Find the solution of the equation 3* X2 -81.
(A) | x=-3orx=2 |(B) | x=—20rx=3[(C) | x=-1lorx=6 |(D) | x=—6o0rx=1
Q.9 | Find the rang of the function f (x)=3" +5.
(A) | (—=,5) (B) | (—,-5) (C) | (5) (D) | (-5,%)




—6x*+x -5 _

10| li
Q010 2+3x°
A) |2 (B) | -2 ©) |3 D) | -3
Q.11 lim w =
T o2 x24x -6
(A |5 B|) | 4 ©€) |3 D) |3
3 3 2 5
3X-7 Xx>3
QL2 et f(x)={2x-1 2<x <3 then lim f (x)=
5x —4  2<x e
A) |3 B) |5 ©) |2 (D) | 6
Q.13 cos(2tan™(4)) = [Hint: cos(2x ) = cos? x —sinzx]
(A) |3 | | 1 © | 2 M) |_3
5 J5 J5 5
14 | lo (Ej =
Q. 9; 5
(A) —In5-1In2 (B) | In5—In2 (C) | In2-In5 (D) | In5+In2
In3 In3 In3 In3
. _ f(x)
Q.15 | Letf (x)=x +1and g(x)=x —1. Find the domain of h(x)= 000
(A) | [-11) (B) | (L) (€) | (o0, -1JU[L0) | (D) (|00, —1]U(L,0)
_ _ Ox > —2
Q.16 | Find the horizontal asymptote of the curve f (x)= YT
X —
A B =+ C = D
(A) y:i§ (B) | y=413 € | x=3 (D) X:ig
2 2
Q.17 | If x =sin1(XT_j, then cota =
(A) 58-x’—6x | (B) x -3 ©) | Jao-x2+6x | (D) x 3
x -3 \58—x 2 —6x X -3 VA0 —x % +6x




18 _
° Find the domain of the function f (x)= X ? :
3+e
(A | R={InE3)} (B) | R—{In(-3)} (©) | (-5.=) D) | R
Q-19 | Find the domain of the function f (Xx)=cos™(2x —5).
(A) | R (B) |[2.3] ©) | (23) (D) | (-0,2]U[3,)
_ X+2 . ,
Q.20 | The function f (X ) =—; —_- is continuous at
(A) | R—{-10} (B) | R-{0,1} ©) | [0,1] D) | [-1,0]
@21 | 1og,(27) +10g,(81) ~log, (¥3°) ~log, (1) =
A |9 | |_7 € |3 M) |_3
2 2 2 2
in(2
Q.22 | lim Sm(3x)=
x>0 sin($x )
(A) | 10 (B) |14 € |15 (D) | 21
21 15 14 10
kx®+3x +1 :x <1 _
Q.23 | The number K that makes f (X ) = continuous at 1 is
5kx =2 ;x >1
(A) 2 ® | 3 ©) |3 (D) 2
2 2 3
Q-24 | Find the inverse of the function f x)= «f(BX +2)°.
(A) | ¢y ® | . $x2 42
00 (3x +2)° ==
© 1 (x) = SX;‘Z ® 11 2) =/ax +2)?
Find the vertical asymptote of the curve y = X—_l
Q.25 ymp Y = ox—10°
A | x=-10x=1 |B) | x=-1Lx=10|(C) |y=-L,y=10| (D) | y =-10,y =1




) SinX —CcosX
lim| —; — |=
x>\ SiN“X —CO0S” X

Q.26
A | 1 ® | 1 ©) | 2 @) | _ 2

N 2

3
Q.27 | The function f (X)=X2+ﬂ
X" —C0SX

(A) | Even | (B) | Odd | (C) | Evenandodd | (D) | Niether even nor odd
Q.28 | Let f (x)=In(x —1) and g (x)=2x —3. Find the domainof f oQ .
A) | [2.) ®) | (0,0) ©) [ (2,) ®) [R
Q.29 im Jx+3-2

x—1 X =1 B
A | 4 (B) | doesnotexist | (C) | 1 D) |0

4 0

Q-30 | |im (x3—2x +3)=

X— =2
(A) | =5 B | -1 ©) | -9 (D) | -7




